


https://en.wikipedia.org/wiki/RGB_color_model




https://en.wikipedia.org/wiki/YCbCr

Y Cb Cr

Y =Kp-R +Kg-G' +Kp-B

1 B -Y'
Pe = 17Ky
1 R -Y'
=3 15,



Less to seein Cb / Cr
...S0 let’s get rid of some of it!



subsampled by a factor of 2 in each dimension,
4x size reduction on two of our three channels,
reduces size by 1/2 overall
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52 55 61 66 70 61 64 73
63 59 55 90 109 8 69 T2
62 59 68 113 144 104 66 73
63 58 71 122 154 106 70 69
67 61 68 104 126 88 68 70
79 65 60 70 77 68 58 75
8 71 64 59 55 61 65 83
87 79 69 68 65 76 78 94

transform from 0..255 to -128..127

~76 —-73 —67 —62 —58 —67 —64 —55]
-65 —-69 -73 -38 -—-19 -43 -59 -56
-66 —-69 —-60 -—15 16 —-24 —-62 -55
-65 -70 -57 -6 26 —-22 -—-58 -—59
-61 —-67 —-60 —-24 -2 —-40 -60 -—58
—-49 -63 —-68 —-58 —-51 —-60 -70 -—53
—-43 -57 —-64 —-69 -73 —67 —-63 —45
—-41 -49 -59 —-60 —-63 -52 -—-50 —34]




8x8 DCT basis
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where
« u is the horizontal spatial frequency, for the integers 0 < u < 8.
« v is the vertical spatial frequency, for the integers 0 < v < 8.
—, fu=0 - .
. a(u) — NG is a normalizing scale factor to make the transformation orthonormal
1, otherwise

9=,y is the pixel value at coordinates (z,y)
« G, is the DCT coefficient at coordinates (u,v).

https://en.wikipedia.org/wiki/Discrete_cosine_transform#Example_of IDCT
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using DCT, becomes:

—61.20
—60.76
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0.42
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—0.66
1.68
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round (
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4.30 1.85
4.12 —-0.66
0.50 1.68

= round (—25.96) = —26
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